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Candle race

John noticed that when Jo lita candle in a small lanten it often flickered and went out.
When Sue lit a candle in a much larger lantemn it usually bumt brighter and for much longer.
Jo said ‘T bet a candle with more air around it will burn better than one in a small space”
Can you design an experiment to find out if this is true.

Equipment you might use:
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‘Think carefully about the following before you start to carry out the experiment,

* How can you accurately measure how long the flames burn in different sized jars?

* How can you make sure that your tests are fair?

* How will you present your results?

* How many times do you need to repeat the experiment so you know your results are
reliable?

* What do your results mean?
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‘This is an experiment to find out if the amount of air available to a bumning candle affects how
long it remains alight,

You will need:

3 candles of the same size bunsen bumer
small jar safety mat
‘medium size jar goggles
large jar spill
stopelock
What to do
1. Light the bunsen bumner (remember you must have goggles on),
2. Set out each of the candles, with a jar close by, ready to light with a spill
3. Light each candle.
4. Start the clock and at the same time place the jars over each candle as in diagram above.
5. Record how long each flame bums for, and fill in the results below.
6. Afier each try turn the jars upside down several times before repeating the experiment.
“Time that candle Small jar "Medium jar Targe jar
bums for
Isttry
2nd try
Srdtry
‘Average of all 3
tries

7. Can you explain your results?








